Name ______________________________________ Core _____ Date ________________ Due Date ______________
Identifying Functions Problem Set


Show work OR write an explanation of how you arrived at your answer on a separate piece of paper. Work or explanation is required for each problem to receive credit!! Write the letter of your final answers in the answer box. You may use a calculator. 
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	1.  The graph below represents Courtney’s trip from her home to school.  What was happening between 7:15 and 7:30?

[image: image47.emf]
A. She was waiting for her bus.

B. She was walking.

C. She was riding the bus.
D. She was going back home because she forgot something.

2.  What is the relationship between the input (x) and the output (y)?
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7.   If the graph below represents the balance in a bank account of the course of a year, which of the following scenarios would match the graph?

A. An initial deposit was made, interest grew the account, a deposit was made, a withdrawal was made, interest grew the account

B. An initial deposit was made into the account, interest grew the account, a withdrawal was made, interest grew the account again, a sizable deposit was made, interest grew the account again.  

C. A withdrawal was made, interest grew the account, a deposit was made, interest grew the account, another withdrawal was made, and interest grew the account again.
D. Two withdrawals were made from the account, which has no interest.

8.  Which equation is not linear?

A 2x + 3y = 12


B y = -7

C 2x + x
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 = 5


D y = 
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2

x - 5

9.  Which is the graph of a linear function?


	3.   If [image: image6.png]f(x) =2x — 4,



 what is the value of [image: image8.png]f(—3)?




A. -10

B. -4

C. -3

D. 2

4.   If the [image: image10.png]x —value



 in the function [image: image12.png]f(x)=2x—-5



 was increased by 3, what would be the effect on the corresponding[image: image14.png]v — value



?

A. The value of [image: image16.png]v



will be three times as large.

B. The value of [image: image18.png]y



 will decrease to be [image: image20.png]


 as large.

C. The value of [image: image22.png]y



 will increase by [image: image24.png]


.
D. The value of [image: image26.png]y



 will decrease by [image: image28.png]


.

5.   On a trip to New York City, Courtney took a taxi to her hotel. The cost was [image: image30.png]$4



 plus [image: image32.png]30



 cents a mile. What equation could she use to help her determine the cost of the taxi ride, where [image: image34.png]


 represents the cost and [image: image36.png]


 represents the number of miles traveled?

A. [image: image38.png].30m




B. [image: image40.png].30m + 4




C. [image: image42.png]C =030(m+4)




D. [image: image44.png]



6.  Gary’s Pizzeria charges $9.95 for a large pizza plus $1.50 per topping.  An order of chicken wings costs $5.50. Amy wants an order of chicken wings and a large pizza.  How many toppings did she order if the total cost is $19.95 before taxes?

A. 1

B. 2

C. 3

D. 7

10.  Which of the following is the graph of a function?
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A.  Graph A only

B.  Graph B only

C.  Both Graph A and Graph B

D.  Neither Graph A nor Graph B



Answers





1. ______





2. ______





3. ______





4. ______





5. ______





6. ______





7. ______





8. ______





9. ______





10. _____





11. _____





12. _____

















A. The output is twice the input.�
�
B. The output is seven less than four times the input.�
�
C. The output is 2 more than the input.�
�
D. The output is four less than three times the input.�
�
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